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Multiple Choice
I dentify the choice that best completes the statement or answers the question.

1. If one wants to know how the material vibging of the average person has changed over liene t
appropriate measure to look at is the growth
a. rate of real GDP.
b. rate of nominal GDP.
c. rate of per capita real GDP.
d. in the percentage of the labour force that isleygul.

2. Per capita real GDP differs from per capiminal GDP in that real GDP
a. measures the opportunity cost of growth.
b. has been adjusted for the time value of money.
c. has been adjusted for inflation.
d. has been discounted to the present.

3. Poor countries are poor for all of thedwaihg reasongxcept
a. their technology is less than modern.
b. their labour productivity is low.
c. foreign investment funds are difficult to attract
d. their labour force is too small.

4. Which of the following represents a proditgtenhancing investment in human capital?
a. anew labour-saving technology
b. anew health clinic
c. anew factory that will employ 1,000 workers
d. anincrease in fringe benefits, such as paidti@ataand overtime pay

5. Anincrease in the capital stock causesuiaproductivity to
a. decrease and the standard of living to increase.
b. increase and the standard of living to increase.
c. decrease and the standard of living to decrease.
d. increase while the standard of living remainsstant.

6. Labour productivity, measuring the outpert\worker,
a. increases with increases in technology.
b. decreases with increases in technology.
c. increases with increases in capital stock.
d. isimpossible to measure since so many workerinaolved in the service sector.

7. Which of the following statements abouhtextogical knowledge is NOT correct.
a. Technological knowledge is a key determinantrotipctivity.
b. Technological knowledge is the understandindneftiest ways to produce goods and
services.
c. Technological knowledge may be common knowledgailable to all, or proprietary
knowledge, known only to certain people or firms.
d. Technological knowledge is an element of humanitak
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8. Inward-oriented policies hold back econognawth because
a. international trade leads to lower domestic egmpént.
b. they encourage the brain drain.
c. infantindustries are unable to compete withrést of the world.
d. they do not allow a country to take advantagiefgains from trade.

9. An important link between politics and emmics is that
a. democracies are more productive than non-deniesrac
b. democracies must constantly make difficult budgethoices.
c. political instability is incompatible with long#tm private investment.
d. conservative governments tend to focus developoremilitary industries.

10. A key benefit of foreign direct investmémpoorer countries is
a. they gain all the returns on such investment.
b. that such investment is very reliable.
c. they avoid the need to have their own stock marke
d. they gain state-of-the-art technological knowkdg
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Answer Section

MULTIPLE CHOICE

1.

10.

ANS: C
rate of per capita real GDP.

PTS: 1

ANS: C
has been adjusted for inflation.

PTS: 1

ANS: D
their labour force is too small.

PTS: 1

ANS: B
a new health clinic

PTS: 1

ANS: B
increase and the standard of living to increase.

PTS: 1

ANS: A
increases with increases in technology.

PTS: 1

ANS: D
Technological knowledge is an element of humantahpi

PTS: 1

ANS: D
they do not allow a country to take advantage efgains from trade.

PTS: 1
ANS: C

political instability is incompatible with long-ter private investment.

PTS: 1
ANS: D
they gain state-of-the-art technological knowledge.

PTS: 1



